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21.  ANTIBODY DIVERSITY IS DUE TO


A.
DNA REARRANGEMENTS OF THE IMMUNOGLOBULIN GENES


B.
RNA SPLICING OF IMMUNOGLOBULIN mRNA


C.
BOTH OF THE ABOVE


D.
NEITHER OF THE ABOVE

22.
THE RATIO OF ANTIGEN BINDING SITES OF IgG : IgA : IgM is: 


A.
5:1:2


B.
2:1:5


C.
2:5:1


D.
1:5:2


E.
1:2:5

23.
THE CELL TYPE THAT ACTIVELY MAKES ANTIBODY


A.
PLASMA CELL


B.
IMMATURE B-CELL


C.
MONOCYTE


D.
MACROPHAGE


E.
B-MEMORY CELL

KEY FOR QUESTIONS 24-27.  EACH QUESTION HAS ONLY ONE ANSWER, BUT EACH ANSWER MAY BE USED MORE THAN ONCE (OR NOT AT ALL).

  
A.
TETANUS VACCINE


B.
MUMPS VACCINE


C.
PNEUMOCOCCAL VACCINE


D.
INFLUENZA VACCINE


E.
HEPATITIS-B VACCINE

_____24.
A TRIVALENT, INACTIVATED VIRAL VACCINE

_____25.
A RECOMBINANT-DNA, SUBUNIT VACCINE

_____26.
AN ATTENUATED VIRAL VACCINE

_____27.
MADE BY CONJUGATING A CARBOHYDRATE WITH A PROTEIN

28.
THE USUAL CAUSE OF INFANT (CHILDHOOD) VIRAL GASTROENTERITIS IS


A.
HERPES VIRUS 1


B.
INFLUENZA B VIRUS


C.
HEPATITIS C VIRUS


D.
ROTAVIRUS


E.
RUBELLA VIRUS

29.
THE NORMAL TRANSMISSION OF YELLOW FEVER IS BY


A.
A TICK BITE


B.
THE ORAL-FECAL ROUTE


C.
MOSQUITOES AND BIRDS


D.
AN ANIMAL BITE


E.
MOSQUITOES AND PRIMATES
30.
THE VIRUS THAT CAUSES "INFECTIOUS HEPATITIS"


A.
IS AN ENTEROVIRUS


B.   IS ASSOCIATED WITH A HIGH LEVEL OF CHRONIC DISEASE


C.   BOTH OF THE ABOVE


D.
NEITHER OF THE ABOVE

31.
YEARLY EPIDEMICS CAUSED BY SLIGHTLY ALTERED STRAINS OF 


INFLUENZA-A VIRUS ARE DUE TO



A.
DELETIONS OF RNA SEGMENTS 


B.
RECOMBINATION BETWEEN HOMOLOGOUS RNA SEGMENTS


C.
POINT MUTATIONS IN RNA SEGMENT 4


D.
RANDOM ASSORTMENT OF RNA SEGMENTS


E.
APPEARANCE OF NEW MATRIX PROTEINS

KEY FOR QUESTIONS 32-35.  THERE IS ONLY ONE CORRECT ANSWER BUT EACH KEY WORD MAY BE USED MORE THAN ONCE.


A. 
EASTERN EQUINE ENCEPHALITIS VIRUS


B.
RESPIRATORY SYNCYTIAL VIRUS


C.
THE "NORWALK AGENT" VIRUS


D.
PAPILLOMA VIRUS


E.
POLIO VIRUS

_____32.
PREVENTED BY THE SALK AND SABIN VACCINES

_____33.
CAUSES CONDYLOMA AND ASSOCIATED STRONGLY WITH CERVICAL 



CARCINOMA

_____34.
HOMO SAPIENS IS A "DEAD-END" HOST

_____35.
CAUSES OUTBREAK GASTROENTERITIS

ANSWER THREE OUT OF FOUR QUESTIONS - TEN POINTS EACH

36.
EXPLAIN THE DIFFERENCE BETWEEN ANTIGENIC DRIFT AND ANTIGENIC 
SHIFT.  WHICH VIRUS DEMONSTRATES THESE PROPERTIES, AND WHICH 
VIRAL PROTEIN IS AFFECTED?  HOW ARE THE VIRUS AND THIS PROTEIN 
CHANGED?  WHAT IS THE EFFECT OF THESE CHANGES ON H. SAPIENS?

37.
DESCRIBE THE MODE OF ACTION OF TWO OF THE FOLLOWING:


A. DIPHTHERIA TOXIN   B. DIPHTHERIA TOXOID  C. ENDOTOXIN

